1.

V60a 7t =71 7] e E ol ® A4=o] Al o] Fofof gt
60 =22x3x5°E® g=3x5=15 ©|th.




2. O T HWEYUAE BrEA Yebd A2

1 1
®\/;<\/; @ 3<242 ® 3v2>2+5
1 3
@§<\/; ® 6< V3

.
© 1> i

@ 3>22
® 3v2 <25

CENIVERVENS

® 6> V35




1.2 < Vx <21 & W59k 4 x o] ghe B Fokelet

Vv V V V
ox  0X
il o ol
w [\S)

02
i
.

1.2 < yVx<21
144 < x<4.41
x=2 3, 4




O V4+ V9= 13 @ 0 9] AlFZL 2 7ol
® V25>5 @ n-3.14 = Gelgoltt
@) VE - VT = VI

B

D Vi+V9=2+3=5= 25
@0 AFTL 0022 1 7Y
® V25=5

@ (7)) - (7E) = (729




o}g %ol A ABCD & AAZgeleh A P, Q o AEE 747}

a, b W, a+b ] F27

C

\
D, \
1 \

- . Py 3Q .,
-2 -1 0 A2 3 4

© -4 OF ® 25
@ 1-+5 ® 1+ V5

~&B

DABCD 9] Hol& (2 BAHE dol)-(dad vl 719 Hel9
)

OABCD 9] Ylo]&=9 -4 x (

oflt

. OABCD 9]
AD=AP=+5 =y
APEAQ) BTG VFRIF A2 4 A QEAQ) BTt V5 7=

A~
24

a=1-V5,b=1+5
ca+b=2

%2




6. tf

oo

s A

rlo

a=w?

o

53
O Vs+1<+5 @ VE+1l< 541
@‘/5+1<‘/5+\/§ @ 3-VIi0< Vi0—-4
® 3-+V10< V10-5

®1<V2OER VE+1<V5+ V2




S M AL a=3vV2-2,b=2V3-2,c =22 f45 H|wstoia}.

> HE: b<c<a

a=VI18-2,b=V12-2,¢c=2
a-c=V18-2-2= VI8-4= V18- V16> 0
a>c
c-b=2-(V12-2)=4-V12>0
c>b




36

ul
RO

36

X V3=4x3x%x3=

J
2

4 12Xg 3=8V3x




_2V5

5v5 = Va, 3 =-Vb & M a, b G Tt et
> E:
[ =
> HE a=125
> &E: b= 2

9

2v5 30

5«/5:«/125,—7‘/_=— S olz=

20

a=125, b= 9 oJt},




